FEAHAL G ER B B LT AL B L BRI

EAECE L= by R b TR R | piapp 1 s

1. FS#fikcf(t) =e®(cos3t +sindt) 2. Laplace ##:  (15%)

2. VA Laplace Transform @A F 42X,  (15%)
y&- 4y¢+ 3y =10e **, y(0) = 2, y§0) = 2

3. FomaEd i REmz izl (15%)
13% - X, +2X; =6
:'x1+2x2— Xg=-2
12% + X, - 4x3=-3

4. FI=@x+y?)ds (1) cin¥Fy = xd (-2 (L-1) (2 cin¥ x+y =4 "1pFsd (0,21

2,0 - (15%)
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6. |0, B Fal4EmHBRM XKD |,+1,+1, 2 412 (15%)

i=1

&2 -1 -36
H=%1 1 22
§-3 2 35

7. AKX abc Atz wEmie s o (10%)
a=i+2k,b=4i+6j+2k,c=3i+3j-6k



1 f(xyz2)=x®+xy+22, = x(t)=t, yt)=t2, z(t):t3j<% (15%)

2.  Findthesolutionof T: ?j—-[ =k(T-T,);, T =T,,k,T,andT, areconstants (15%)

3. Solve: x*y@ 2xyC+2y=x‘e* (15%)

4. & H+3K+4k+2x=t , &0) =0, %(0)=0, x(0)=1 (15%)

5. yerday=-2, y@O=1 @02 (150
e8g 2 " é8g

6. fiy® y@®+2y=0 (10%)

7. A mechanical system with mass m, spring constant k and damping constant ¢ , as shown below, is governed

% K

by linear D.E. mii+cy+ky =0 , plot themotiononthe y-t planefor (15%)

(@) c=0(umdamped)
(b) ¢®>4mk(overdamping) , and
(c) ¢*<4mk(underdamping)



